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1 In the diagram below, AC = 72 m, AB = 55 m and BC = 68 m.   

The bearing of B from A is 230 . 

 

 

 

 

 

 

 

 

 

 

 

 

 

Find 

 

(a) the angle BAC, 

 

 

 

 

 

 

 

 

 

                                                                            Answer ……………………………….. [2]      

 

(b) the bearing of C from A. 

 

 

 

 

 

 

 

 

 

 

                                                                            Answer ……………………………….. [1] 
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A 

B 

C 

55 m 

72 m 

68 m 

North 



2 

 

4 A, B and C are three points that lie on level ground.   

AB = 3.2 km, BC = 3.8 km, angle 73BAC =  and the bearing of B from C is 142 . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(a) Find 

(i) angle ACB, 

 

 

 

 

 

 

 

 

                                                                             Answer ………………………….…… [2] 

 

(ii) the shortest distance from C to AB. 

 

 

 

 

 

 

 

 

 

 

                                                                             Answer ………………………….… m [3] 

(b) A tower is erected at B.                                                                                                

The angle of depression of C when viewed from the top of the tower is 55 .                             

Find the height of the tower in metres. 

 

 

 

 

 

                                                                            Answer …………………………..… m [2] 
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